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2022
ECONOMICS
( Honours )

Paper : ECO-HC-5026
( Development Economics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

- Answer either in English or in Assamese

1. Answer any ten of the following as directed :

, C 1x10=10
wero IR R e 7R fReenpik ¥et w1
(a) What is meant by below poverty line?
fRw Rwer @3z B @2
(b) Define democracy.
 alreER e |
(c) Define the term per capita income’.
IR WY S foay
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(d) What is meant by income inequality?

(3)

() What is meant by absolute poverty?
R Pl R R m e 5 wRger e 3@ ?
(e) Déﬁne incremental capita.l-output' ratio (m) What is meant by endogenous growth?.
in the context of Harrod-Domar model. rerA R I & @2
(TC-TART TR AYRC IS Joee-Beotremy
SIS Jige | (n) Define a political institution.
| ' b1 AT ST e |
() Whatis the golden rule in Solow model? _ :
oo wife G RS 2 (o) Mention a measure of growth to study
international variation.
(g) Write one charactensuc of the poor. RIPE qﬁw@q IRTE TR W TR
wiRu3. «oT ¢ forar | <51 % TeEd ¥
(h) . What is meant by technical progress? (p) What is meant by vicious circle of
Frersre Tafe = &0 ? poverty?
o wREeR e e fF 3o 2
() Define natural growth rate,
W ﬁw 9 A ﬁ;n | (g What is the HDI rank of India in UNDP
’ Human Development Report, 2021-22?
() What is social institution? | UNDP ¥ Wi+e 7 2fcam, 2021-223 W
TR Stk R qam 2 | SRSy YA M CWH SPF (HDIR ¥
o _ | R 2
(k) Mention two alternative measures of _
de"ehPmentf _ () What is steady state in Solow model?
R 1 R P S Vo SIS fRufs g ¥ 0
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2. Answer any five questions very briefly : 2x5=10

R o1 +fiobt epr fS oy v foay -

fa) What is meant by  knife-edge
- equilibrium?

P49 ST e & gm0

(b) Define Gini coefficient. -
R o e f -

(c) Mention two differences between growth
and development.

WWWW@W@WWu

(d)  Give tW_o reasons of relative poverty.

SR wiReer 11 PR B |

(e) Mention two non-economic factors
- Wwhich determine economic develop-

ment.
ol R Ey T Ra
A S i 7 |

lij] g::;h two features of modern economic
S AT R oy G forey

( Continued )
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(g} Mention two differences between Harrod
and Domar model of growth.

T S TIRT A IR T T ey
TE 1)

(h) Write two assumptions of Solow’s model
of long-run growth.

BWWWW@IW%WI

() Give two examples of government
failure.

PRI RFerer 11 Tz ﬁm |
() What is meant by disinvestment?

R e & 3@
Answer any four of the following questions :

o PTGl BIRGI B e -

fa) Discuss any. three problems of
measuring economic development.

Al T T R @y fofGr S
A 47 |
(b) .Briefly discuss the factors which

influence economic development of an
underdeveloped country,

QWWWWWWmﬁEﬁ
A ””““iisﬁﬁsﬁmﬁmﬁnawm

5x4=20

( Turn Over)



()

(6)

Write a note on inequality axioms.

- PTTOR RIPRT SRS BT (B foram 1 -

(d)

(e)

9

()
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Justify per capita income as an index of

economic development.

Gmﬁafﬁs%Emwa?p$13ﬂzﬂ@$vﬁ3vmﬂ<=mﬂmﬂ
T FA

Discuss the concept of economic
inequality.

ST SO YICICH! ST 3441 |
Discuss the need for balanced regional
development in case of underdeveloped
countries.

MW cvge YW RS TR

AT R BT |

Write a short note on rural-urban
economic gap.

AP SF DRI WLAE FET 7S Gl oY
CBreT fora

Explain how democracy and econhomic
growth are interlinked.

TSR S SAST Rept Ry ARSI,
I FA L

( Continued )

(7)

4. Answer any four of the following questions :

10x4=40

oo P R e wiiRer T f -

(@

()

(c)

(@)

(e)

1)
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Explain the various alternative
measures of economic development.

weftes T Rfen Res TermR T+ 1

Discuss the international variations in
per capita income (PCI) and human
development index (HDI) measures.

SR O U A SR PRF WH RIS
WIESAEE AT T T |

Compare development  trajectories
across nations and within them.

R o WF B9 fSoqw Ty fSurm
o 4 |

Explain the construction of the Human
Development Index.

TR SRE STOIE SO QT A

Discuss the conditions of steady growth
in the context of Solow model.

Explain endogeneous growth theory.
e PP OF 7 34 |
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(g) Discuss the main features of
Harrod-Domar model of growth.

@e-vTH RIrA RGR T WREPER
B 9T |

(h) Explain the technique of Lorenz curve to
measure inequality. '
STl WoFE I INTO @Y (IR I
[N A0

(i) Explain the role of State institutions in
economic development.

WWWWWW
STCE SICAA 1

() ~ Discuss, in detail, thre consequences of
corruption in the economy.

g A YRR aRaeez R
R0

* Kk
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